: (610)H %0l Mgt (61)AIR RS (
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0

=2
= AT = <
- (4l &H K (EEF%” HlusSZ &t = Jl =
10,357,858| 10,214,053 143,805
10,154,378 9,999,473 154,905
9,409,598 9,255,693 153,905
4,974,441 4,882,502 91,939

= 720¥ X 506,680m" X 128 = 4377715
2EH | 1,080& X 19.,688m" X 128 = 255,156
SEH| 1,570& X 10,088m" X 128 = 190,057

15mm 600& X 18,1808 X 128 = 130,896
20mm 800& X 380& X 128 = 3,648
25mm 1,000& X 3728 X 128 = 4,464
32mm 1,300& X 758 X 128 = 1,170
40mm 1,600& X 468 X 128 = 883

50mm 3,300& X 30& X 128 = 1,188




1 (610)H =2 Mg (B1T)AIE 2 4= (el &)

- 0l &k o gi;ﬁ HnZS2 a4 & 9 =
75mn 14,0002 X 158 X 128 = 2,520
100mn 17,0002 X 158 X 128 = 3,060
150mn 30,0008 X 9F X 128 = 3,240
200mm 37,0008 X 1&® X 128 = 444
4,397,652 4,335,686 61,966

O 2449
=5 1,00080 X 129,207m X 128 =  2,001517
=] 1,55080 X 21,444m X 122 = 398,858
363 1,86080 X 20,324m X 128 = 453631
4643 23009 X 19,939m X 128 = 550,316
5E4 3 28009 X 27,615m X 128 = 934491

O PP Fuga
15mm B00R X 4,727 X 128 = 34,034
20mn 800R X 672F X 128 = 6,451
25mn 1,0008 X 423% X 128 = 5,076




: (600) At %o 5 (610) 242142l NI (B11)ALB 24 (CHel: & e)
n

P i e | S0 | w2 & & I =
32mn 1,3008 X 778 X 128 = 1,201
40mn 16002 X 1297 X 128 = 2476
50 3,3002 X 778 X 128 = 3049
75 14,0002 X 26% X 128 = 4368
100mm 17,0008 X 57 X 128 = 1,020
150mm 30,0002 X 2@ X 128 = 720
200mm 37,0002 X 1® X 128 = 444
6E:| g(‘g% 37,505 37,505 0

O 244
1421 1,032 X 1,769m X 128 = 21,864
2843 1,002 X 523w X 128 = 8096
3eHi 15702 X 812w X 128 = 5878

SEEER-TI-E
25 100080 X 4% X 128 = 4
32mn 1,30080 X 28 X 128 = 31




Mg (B1T)AIE 2 4=

M

40
o
0

I

HEE
(4l &H K

M

S

40mm

50mm

100mm

150mm

1,600& X 148 X 128

3,300& X 10& X 123

17,000& X 1&8 X 128

30,000& X 2& X 123

268

396

204

720

705,000

705,000

32mm

40mm

50mm

75mm

100mm

800,000& X 400&

1,000,000& X 50&

1,500,000& X 40&

2,000,000& X 35&

2,500,000& X 20&

3,500,000& X 10&

10,000,000& X 5&

20,000,000& X 2&

320,000

50,000

60,000

70,000

50,000

35,000

50,000

40,000




2t (600) Ab 40! 5t (610)21 140! Mg: (612)2 . HaZ Ao Chol E 2)
i = S
Abol SeT | vlnsy 4 5 I E
2.8 NIg = " Ofl Ak 08 = =
150mm 30,000,008 X 1& = 30,000
661
JIEtg 4 39,780 38,780 1,000
661-02
IIEIAIR 240 6,000 5,000 1,000
SaA(BAFE) 1,200,008 X 53 = 6,000
661-03
JIEtE 424 33,780 33,780 0
AEZEBAN £484
Hxx2 25,0009 X 563% = 14,075
ANBRAT 242 15,0009 X 563% = 8,445
EZDANLLR 20,0009 X 563% = 11,260
670
e 203480 214580  A11,100
671
0l Xt==2) 99,000 99,000 0
671-01
0 20/ Xt 99,000 99,000 0
222 0IX=
CENE 1,000,000,000% X 0.1% = 1,000
=l = 7,000,000,0002 X 1.4% = 98,000




(600) Al &4 =2 g (670)F A2 Mgt (672)Et3l AN & S 4= (2l &)
o = MG
- Off &K (EEO—\H Hns2 &t = Jl =
A &L=+ 99,080 111,080 A12,000
672-01
LB H ML= 10,800 25,200 A14,400
O ZBEgHga dEAsEs 28 B 10,800,000& = 10,800
672-02
EISES AT = 88,280 85,880 2,400
O ot+==S83H &3
ot AES AEET =2 2,840,000,000& X 3% = 85,200
Aot BE =2 900& X 100& X 128 = 1,080
Xlot= HEI FE 40,000& X 500 = 2,000
679
JIEtE A 2= 5,400 4,500 900
679-03
SESMHA=L 2,700 4,500 21,800
O ==HEI ==Y
1,800& X 1,5000H = 2,700
679-09
JIEtE A 2= 2,700 0 2,700
O JIEt S =g £ =< 2,700,000& = 2,700




